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Topic Name:Mathematics-Section A

ItemCode:101263
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ItemCode:101264
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Topic Name:Mathematics-Section A
ItemCode:101265
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Topic Name:Mathematics-Section A
ItemCode:101266
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Topic Name:Mathematics-Section A



ItemCode: 101267
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Topic Name:Mathematics-Section A

ItemCode:101268
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Topic Name:Mathematics-Section A

ItemCode:101269
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ItemCode:101270
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Topic Name:Mathematics-Section A

ItemCode:101271
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Topic Name:Mathematics-Section A

ItemCode:101272
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Topic Name:Mathematics-Section A
ItemCode:101273
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Topic Name:Mathematics-Section A

ItemCode:101274
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Topic Name:Mathematics-Section A

ItemCode:101275
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Topic Name:Mathematics-Section A

TtemCode:101276
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Topic Name:Mathematics-Section A

ItemCode:101277
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Topic Name:Mathematics-Section A
ItemCode:101278

lim 6tan{itanl[12 L )}awaa%:

T30 r=1 +3r+ 3

Question:
Alg

B

2
Cl:3
D 6

Q:19

Topic Name:Mathematics-Section A

ItemCode:101279
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Topic Name:Mathematics-Section A

ItemCode:101280
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Topic Name:Mathematics-Section B
ItemCode:101281
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Topic Name:Mathematics-Section B

ItemCode: 101282
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Topic Name:Mathematics-Section B

ItemCode:101283
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Topic Name:Mathematics-Section B

ItemCode:101284
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Topic Name:Mathematics-Section B
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ItemCode: 101285
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Topic Name:Mathematics-Section B
ItemCode:101286
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Topic Name:Mathematics-Section B
ItemCode:101287
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Topic Name:Mathematics-Section B
ItemCode:101288

Ao fHAfas Afimret 2, § z =iz2+2%—z 3 Fgwe a9e U5, ¥ fooiar @ =9ar ©F 73 g9vEg
nfl

Question:

Q:29
Topic Name:Mathematics-Section B

ItemCode:101289
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Topic Name:Mathematics-Section B

ItemCode:101290
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Topic Name:Physics-Section A

ItemCode:101201
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Topic Name:Physics-Section A

ItemCode:101202
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Topic Name:Physics-Section A
ItemCode:101203
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Topic Name:Physics-Section A



ItemCode:101204
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Topic Name:Physics-Section A
ItemCode:101205
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Topic Name:Physics-Section A

ItemCode:101206
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Topic Name:Physics-Section A

ItemCode:101207
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Topic Name:Physics-Section A

ItemCode:101208
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Topic Name:Physics-Section A

ItemCode:101209
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Topic Name:Physics-Section A

ItemCode:101210
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Topic Name:Physics-Section A

ItemCode:101211
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Topic Name:Physics-Section A

ItemCode:101212
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Topic Name:Physics-Section A

ItemCode:101213
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Topic Name:Physics-Section A

ItemCode:101214
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Topic Name:Physics-Section A

ItemCode:101215
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Topic Name:Physics-Section A

ItemCode:101216
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Topic Name:Physics-Section A

ItemCode:101217
He &= fa K, »i3 K, B3mefns afedacst & 89sH aifza Bare! 06 /e =T A\ mi3 A, 3941
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Topic Name:Physics-Section A
ItemCode:101218
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Topic Name:Physics-Section A

ItemCode:101219
fe3 = A fe9, fese swcn V,, feuret @t T | p-n FarAs sfees (D, 7t D,) & de-fos SwcA
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Topic Name:Physics-Section A
ItemCode:101220
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Topic Name:Physics-Section B



ItemCode:101221
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Topic Name:Physics-Section B

ItemCode:101222
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Topic Name:Physics-Section B
ItemCode:101223
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HtniH &g safenr famr J1 o & 1S JI
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Topic Name:Physics-Section B

ItemCode:101224
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Topic Name:Physics-Section B



ItemCode:101225
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Topic Name:Physics-Section B

ItemCode:101226
5 uFHS © 8 orax C, 3 fex Bedt &t 293" a9 30 V € USHS 39 9afns a3t famr 9 |feg gedt
ger foStaret I 99n 9T uga § 10 wF ugasT € &1 fawt 579w 92 uga & Afanit ¥ fre fozg fes
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Topic Name:Physics-Section B

ItemCode:101227

g SomaTard a8l nied 340 Hz nifedt € foa feBféar (tunning) @9« (fork) 125 cm ®uret ® f&x
T TBH (column) &% HES nfest & nigse feg 91 A fen oo IH-3t uat ufenr Afer g 3
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Topic Name:Physics-Section B



ItemCode:101228
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Topic Name:Physics-Section B
ItemCode:101229
M =4 kg U »3 R=10 cm »9u foorA & £ AHs Io@ ¢ fEx Afag ufsedt o9 3 Sl T fR
fozg & feufenr I1 m=2kg YA © f£x 5an § £ ¥msfo3 3Tt (cord) &% fros fa gawt € fou
TS BUTenT T 3% HefonT I | gai € f3a9E 29 59 f3oaet &t vz g 3 993 Ifas 7 | 34t
f@g 38< (tension) N J
(g=10 ms 2 &)

Question:

Q:60
Topic Name:Physics-Section B

ItemCode:101230
foa a9 gt AB & ufues fEx 3ot vy ms !, oA fEx f3oet v, ms ™! w3 StAT fE&x f3or
v, ms~ ! T &F THE! I 3N FIeT J |

ﬁa‘q’z¢3=3zrl, Uy =21, w3, ;=11 ms 1 T It FT T WiAS @ m/s I
G+

Question: A 1 2 3 B

Q:61

Topic Name:Chemistry-Section A
ItemCode:101231

fea fax A &9 8.7% T5i3ws, 74% 996 w3 17.3% &Eters J|
Qe A T wiEst A9 T | (799 Gfed A € H&d 979 162 g mol ~1 T )
Questiom(ﬁ?ﬁ:um-rﬁmc,ﬂh@h} qHed 12, 173 14 amu J1)

A C4H6N2
B CHN
| HN

C10H14N2



Q:62
Topic Name: Chemistry-Section A

ItemCode:101232
Jor fe3 s g o9
(A) MY G nid 8 Ta3Ha Uds »id J fAReT HE ‘n'=1,2,3, ..

(B) ufsd anft anieH wig ‘I’ f83 a® ‘n’ (WY aed Wid) T HE J AgE J ‘I'=0,1,2, ... n
(C) Yt nragfes® anfieH wid ‘m; 8k um ‘' (uf3A gndt gured wid) (21 +1) HE Juer J|
(D) feSoes fafus &t € Azfss femer +1/2 T

(E) [1=5, &=t g% 9 niofaes J=dl|

Busasa aEst &9 faos a8s Adt J/as 2

Question: &
Y (A), (B) "3 (O
 (A), (O), (D) 3 (B)
© (A), (Q) 3 (D)

? (A), (B), ()3 (D)

Q:63
Topic Name:Chemistry-Section A

ItemCode:101233

SF, @ Agus R9 S BUq fearlt gam 76 :

Question:

A ferest At »i3 fer fou © foardt GoH-90% GoH & T3 5% 90° T 3F 5678 5 |

B ferest rfest w3 for €9 B3 fearat gaH-89us toH & ta=t 8% fod gA9 &% 90° T aF
58T T |

€ ot AfEz nZ foR oS s feardt T - SUs GaH & Tae 8% 90° & 3 9o'8% 5|

P gt mfes w3 fer T T feaat GO - S0 GOH ©F Toet 8% 90° € 9 59T I8 |

Q:64
Topic Name:Chemistry-Section A

ItemCode:101234

fea fefonraet Yusfea 3g w3 fer s = & 59 us &8z famet pH 4 &t &3 J)

[ CH,CH,COO™ |
[CH,CH,COOH]

T wigU3 gte fen ged § & JI

fésr ¥ : K, (CH,CH,COOH)=1.3x10"5

Question:

A 0.03
B3
Cl:0.23
D933

Q:65
Topic Name:Chemistry-Section A



ItemCode:101235

Agt - I »3 mol- 1 = fHoE &9

get - 1 get - 1

(A) fozzHa Toffs 7S ()  Fe,04-xH,0
(B) feAs niz<t dwfes () CdS s
(C) USSHI TS S (IIl) FeTag
(D) ualg IV) 7%

Question: Jo fo3 feamut &9 Adt €39 95

A (A) - (I0), (B) - (1), (C) - (IV), (D) - (@)

B (A)- W), (B) - (), (C) - (1D, (D) - (IV)

€ (A)- (1), (B) - (1), (C) - (O, D) - (IV)

P (A)- (D, (B) - (), (C) - (1), (D) - (IV)

Q:66

Topic Name:Chemistry-Section A
ItemCode:101236

Adt - I »i3 gat- v e o9
At - I (Oxide)

get - II (Nature)

(A) CL,0, (1) wecfax
(B) Na,O (I) yrgr
(C) ALO, (1) fsauy
(D) N,O (IV) 3amdt

ouestion: IO 153 feo@ut 149 Adt 839 w2

A (A) - (IV), (B) - (D), (C) - (D), (D) - (II)

5 (A)- (IV), (B) - (IT), (O) - (1), (D) - (II)

€ (A)- (W), (B) - (IV), (O) - (1II), (D) - (I)

Y (A)- (D, (B) - (), (C) - (II), (D) - (IV)

Q:67

Topic Name:Chemistry-Section A
ItemCode:101237

nifeds T U3 foraars 29 J5 By Iarfea yStafonr

FeO+SiO, — FeSiO,
FeO %3 FeSiO, Ta3fenr AieT T

Question:

A nUdEr T3 i3 EBOH HET |

B

SHAH WS T3 NS FHIT |

€ u3 % »3 eBan U |



nUSEl T3 W3 U3 HS gHeTg |

Q:68
Topic Name:Chemistry-Section A

ItemCode:101238

TEtgTs © 35 mimEsa o5, yefeo (1H), 5889w (3H or D) »= Zenvn (PH or T), fost &F

Irfea g fod A9 ug 3f3 IIE missd-widdl I6 e Y 9 J

Question:
A Yers it nisar-nwar Aftor
B nisa-nisar UgHEST nis

C

WEI-niSal fesaeTst & 39319
D ywa-nmar viset Ue

Q:69
Topic Name:Chemistry-Section A

ItemCode:101239

Question: JO" 183 28" f&ra=T wrar wiraArets T
A S0,

B S0,

Cl a0

D ALO,

Q:70
Topic Name:Chemistry-Section A

ItemCode:101240
fe3 I aEtens € WigAels oo’ N,O, N,O,, N,O, »3 N,O. fora= tfaet 7 &
J/T5

Question:
A 1]
B )
C 3
Dl g

Q:71
Topic Name:Chemistry-Section A

ItemCode:101241
Question: IO 183 ABET & miar Mfist 39" fam e “S” dnft & niddar-nidsal niraHiads nRATERT 0% ?

H28203
? HZSZOE:
¢ HZS2O7

H,5,04

Q:72



Topic Name:Chemistry-Section A
ItemCode:101242

. YSTHAT AHAT S99 AdT 386 &3 3
Question: =
A frg mift @& TzegsE fFg Jer I

B

feg dnr, der » SO, & fHATs J1

€ feo fox mweadt ARaT I

P feg niAfaus oetEeaEst € yStfafanm 3 gwet U1
Q73

Topic Name: Chemistry-Section A
ItemCode:101243

J6 &3 afoe & Adt [UPAC &7 T :
H
O,N "
Question: o O
A 4fEEE-2-mEe 5 MIRIUS-3-ETanTs
P 4 fEEts-5 naR-2-a e SUe-3-Stants
4-HETETS-6-5TE S -3-MTTATUS -4-Eteni®s
Y b EG-4-HEEIH-2 e e JaH-3- St

a

Q:74
Topic Name:Chemistry-Section A

ItemCode:101244
fest yStfaforr feg vu @R P 3
(fH&, Me = —CH, J)

OH
SIS
Me Wy |
Me

Me

Question:
A Me
Me
Me
B Me Me



C Me Me

Me

Q:75
Topic Name:Chemistry-Section A

ItemCode:101245

AD Co A | a5 St wnitfea wifis
(i) CN-
(iii) H,O/H*

Busas yStfafanr g ‘A’ T :

Question:

j

CH,CH,

c CH,
Br- :

D CH =

Q:76
Topic Name:Chemistry-Section A

ItemCode:101246

netAfEgeTas nestaoets, eomimst Tels w3 K,CO, yStiafonr afo ‘A7 fder 31 afo ‘A’
KCN & yStfafan Gifare ‘B’ féer 31 fagsT fa 7@ nuwes 3 Afeg Gfo ‘C” féer 1 afos ‘C” 3:

Question:



A ClHB
HO—CHZ—(II—CIH—COOH

CH,OH
B HO—CH,CH, - (I:H —CH-COOH

CH; OH
¢ O
HO
H,C O
H3C
D @)
H;3C
H,C 5
HO
Q:77

Topic Name:Chemistry-Section A
ItemCode:101247

J5 fedt yStfafont € ugrus Agu <8 Jor fo3 qust § f<or9 -
NH,

HNO,
H,S0,, 288 k gt

(A) "IE-EEE WETEs m3 UTr-arete mistdts Hy 8uat 7 |
(B) U arEte nidldls w3 Rer aete ndtiets vy 8Ut 75 |
(C) HNO, 37¥ =1 f&fonr ager J|

(D) H,S0, 37" =7 fJfonrr a@er J|

At 986 9T

Question:
A (A) 3 (C) At oEs 75|
B (A) 3 (D) Adt 5ES T5 |
€ (B) »Z (D) Adt 86 T5 |

> (B) »3 (C) At s T |

Q:78
Topic Name:Chemistry-Section A



ItemCode:101248

fas 785 (A) . FEdst 993 nidtAis fea It oo T fars mndt ust nrdtidts afo® g5 fare

HOI® T TS|
FTE TGS (R) : AN Ut nirEtls nignt 199 nigd-2 &3 95 Afa HAgs 2ude! nizdfafonret
&% I IS |

ooy by

Budaz FEst @ wog I o3 839t & Adt 839 5

Question:
A 23 (A), (R) AR T& »i3 (R), (A) & "t feurfenr 3

® 23 (A), (R) AR 76 ug (R), (A) & At feurfenr &t 31
€ (A) At T uT (R) a3 T

® (A) T35 T uT (R) At T

Q:79
Topic Name:Chemistry-Section A

ItemCode: 101249

e HaW ‘X ¥ nidaied WH § a5 H,50, ¢ &% arfent Afer J ‘A’ »i3 ‘B’ € AHWIIA 88¢ 6 |
‘A’ & HNO, &% »wraAiggs 3 Agdfed nifAs szer 3 wAzfa ‘B’ ®f2deedt I
wfo X T

A vmed

P paaw
€ Haem

LS PSS

Question:

Q:80
Topic Name:Chemistry-Section A

ItemCode:101250

T SaTHE J

Question:

A H
N
<\ j\/\
N NH,
B CH(NO,)
Nw/s )—K
o N NN NHMe



D
N /\/\/Ok
Ph HO

HO pp

Q:81
Topic Name:Chemistry-Section B

ItemCode:101251

27°C 3UHS 3 100 arH féa wmeam dm & féx fAwsa famer »ifess 416 L 1.5 bar &8 =amf Sftmr
famr T | 9W T HesT F9 IHMSB T (837 338 YyIs »ix 3 5y )
(€37 : R=0.083 L bar K=! mol~1)

Question:

Q:82
Topic Name:Chemistry-Section B

ItemCode:101252

)

ff H® HIBITAWH & Y% 93938 &8 300 K 3IUH™s w3 1 bar g™ A% Sug, fardt

A-H® = —601.70 k] mol ~! »3 nizgfex G € ges= & 13T fer ySifafonr st
K 71 (8337 335 Uds wid 3 fou)
(ff37: R=83] K~ 1 mol~1)

Question:

Q:83
Topic Name:Chemistry-Section B

ItemCode:101253

2.5 qrH Uts fiam e firge aeitrts (C,HNO,) 3 § urdt fég Wi & 500 mL & ui garfen famr
hY] 300 K 3uHs ST u® & ugAde €79 5.03x 1073 bar J1 Ydts 9 Hoe I aweHs
et &t Rftpor JI

(Given : R=0.083 L bar K—1 mol 1)

Question:

Q:84
Topic Name:Chemistry-Section B

ItemCode:101254
€3 = AHfaest (yStafanrst) feg
Sn2t +2e~ — Sn

Sn*t +4e~ — Sn

E° = - 0.140 V "3 E° = 0.010 V fE&3cs U2A% 751 Sntt /Sn?t ¥ ACSIS(HER)
Sn?*/Sn Sn*t /Sn
fedaers Uems ie. EC ,, . X1072V 3| (837 338 yds nid 3 fod )
Question: Sn / S5n -
Q:85

Topic Name:Chemistry-Section B



ItemCode:101255

fea 3f56 TaHt 33 fArEt niga »ig 200 fes 91 83 fest amE YStAS 1S IS8 ToHsT
gt 3fg Areat | (€39 338 UIs »ix 3 ey )
(f&3r T : antilog 0.125=1.333,

antilog 0.693 =4.93)

Question:

Q:86
Topic Name:Chemistry-Section B

ItemCode:101256

[Fe(CN)6]4_

[Fe(CN)6]3_

[Ti(CN)e P~

[Ni(CN),J*~

[CD(CN)6]3_

fe3 HuSamT (Gu Aforadt Gfae) fee fa==t nicggat 75 |

Question:

Q:87
Topic Name:Chemistry-Section B

ItemCode:101257

() CoCly4 NH, (b)) CoCly5NH,  (c) CoCly6NH, »3 (d) CoCl(NO,),’5NH,
SHUBSHT oo fo==t Quaforast afom mRndt-feun Armide (Ft&Htedlas mHmiaR)
TIAET T&|

Question:

Q:88
Topic Name:Chemistry-Section B

ItemCode:101258

0.492 qrH fex saedt dio fam fee ‘C, ‘H’ »® ‘O’ Hge I6 Udt 3T 7% 3 0.793 H CO, i3
0.442 v H,O e 31 fer arogd! tfom fe wiares & ySies Hsar J1 (8339
33% yds id 3 fosd )

Question:

Q:89
Topic Name:Chemistry-Section B

ItemCode:101259

/
Br
| ——=— G
hv
O
Q:90

Topic Name:Chemistry-Section B

Question:



TtemCode:101260
#e 0.01 M KMnO, T uw 20.0 mL 0.05 M Hog 2 uis f&g 50 mL fafee 28" ufenr afer I | 9@
ﬁa@ﬁzé‘rﬂawwﬁalymﬁmﬁa??ﬁa@ﬁzﬁaKmo M(‘EDF‘FEB‘:‘S mL 3fg

e J1 (839 338 yIs nix 39 s )

Question:



